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11.

12.

In case of any discrepancy between English
and Hindi versions of a question, English
version will be taken as correct, wherever

there are both versions.

Select and darken the circle corresponding to
the answer [(A) or (B) or (C) or (D)] in OMR

sheet.

In case more than one circles are darkened in a

question, it will not be evaluated.

Do no make any stray marks on OMR sheet

and do not fold it.

Any candidate found removing pages from the
Question Booklet may be disqualified and

prosecuted.

Use of unfair means will disqualify the

candidate from the examination.

Cell phone, calculator or any such devices are

not allowed in the Examination Hall.

No candidate is allowed to leave the seat
before handing over the original OMR sheet to
the invigilator. Candidate can take Question

Booklet and Carbon copy of OMR sheet.
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Codes:

Given below are four definitions given by four

scholars on administration. Which one was
given by JohnA. Vieg?
(A)  Administration is "a moral act and

administrator is amoral agent”.

Administration is "determined action

(B)

taken in pursuit of conscious purpose”.

Administration 1s "the direction,

©
coordination and control of many
persons to achieve some purpose or
objective".

(D)  Administration can be defined "as the

activities of groups cooperating to

accomplish common goals.

Match List-I with List-1I and select the correct

answer by using the codes given below the

lists:

List-1

(A) L.D.White

(B) W.E. Willoughby

(C©)  E.N.Gladden

(D) Ord@ay Tead

List-1I

(1) Principles of Public Administration

(1)  Introduction to the Study of Public

‘ Administration

(1)  Administration: Its Purpose and
Performance

(ivi An Introduction to Public
Administration
A B © O

A @ i) v (i)

B vy (@A) @i [

C )y @ (iv) (i)

D (i)  @av) Q) (ii)
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Which one of the following pairs is true?
(A) | Simon. ....... Grapevine

(B) Simon....... Zone of Indifference
(Cy Simon....... Satisfying

(D)  Simon....... Mixed Scanning

Which one of the following is NOT upheld by

New Public Administration?

(A)  Value based approach

(B)  Dogmasofefficiency and economy
(C)  Socialequity inservice delivery
(D)  Relevantresearch

Consider the following stages:

(1) Politics - Administration Dichotomy
(2) The Humanistic Challenge

(3) Search for Universal Principles

(4) New Public Administration

(%) Focuson Iﬁter-disciplinary Studies
{6) Paradigm Shifts

Which one of the following is the correct
sequenée of the above stages of historical
evolution of Public Administration as a
discipline?

(A)  1-3-2-5-4-6

(B)  4-2-3-1-6-5

(C) 1-2-3-5-4-6

(D}  4-3-5-1-6-2
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(A)  1-3-2-5-4-6

(B)  4-2-3-1-6-5

(C)  1-2-3-5-4-6

(D) 4-3-5-1-6-2
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Which one of the following books introduced

the concept of New Public Management?

(A)  Politics and Administration - Frank

Goodnow

(B) Reinventing Government - David
Osborne and Gabler

(C) TIdeas and Issues in Public
Administration - Dwight Waldo

(D} Toward New Public Administration:
The Minnowbrook Perspective - Frank
Marini

Given below are two statements, one labelled

as Assertion (A) and other labelled as Reason

(R)

Assertion(A): Public Administration is more

comprehensive than private administration.

Reason (R): Public Administration regulates
private administration.

In the context of above two statements, which

one of the following is correct?

(A) BothAandR are individually true and
Risthe correctexplanation of A

(B)  Both A and R are individually true but
R isnotacorrect explanation of A

(C)y  AistruebutRis false.
(D)  AisfalsebutRistrue

The principle of span of control means -

(A)  An employee should receive orders
from one superior only.

(B)  The number of subordinate employees
that an administrator can effectively
direct. |

(C) The control of supervision of the

superior over the subordinate.

(D) The number of people being

controlled.
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10.

11.

12.

According to Urwick, where the work is of a

more simple and routine nature, the span of

contro] varies from
(A) 8tol2

(B) 9tol2

(C) 7to9

(D) 10to12

Who has been associated with pre-
paradigmatic stage of comparative public

administration?

(A)  Nimrod Raphaeli
(B)  ThomasS. Kuhn
(€)  Fred W.Riggs
(D)  Farrel Heady

"As is apparent, comparative public
administration is a study of public
administration on a comparative basis." Who

stated this definition?

~(A) Nimrod Raphaeli

(B)  Fred W.Riggs

(C)  RobertH. Jackson

(D)  KeithM. Henderson

Which one of the following is NOT a

preposition in Theory - X?

(A) The average human being has an
inherent dislike of work.

(B)  The average human being wishes to
avoid responsibility.
(C}  The average human being learns to

seek responsibility.

(D)  The average human being 1s not

committed to organizational goals.
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13.

14.

I5.

Herbert A. Simon considered decision making
as a three step process. Which one of the
following was added by G. March?

(A) Intelligence activity, i.e. finding

solutions
(B)  Reviewactivity, i.e. follow up actions

(C) Design activity, i.e. developing

alternatives

(D)  Choice activity, i.e. selecting a course

of action

Which one of the: following is NOT true in -

relation to the meaning of delegation?

(A)  Entrustment of work of responsibility

to another for performance.

(B)  Entrustment of powers and rights, or

authority, to be exercised.

(C) Creation of an obligation, or
accountability, on the part of the
person accepting the delegation to
perform in terms of the standards
established.

(D) Sh}fting of workload without
transferring corresponding authority
to make a decision.

Which of the following is NOT the essential of

supervision?

(A)Y Development of agreed work
standards between supervisor and
subordinates.

B) Devei.oping report forms for
subordinates.

(C) Resolving conflicts and misunder

standing among subordinates.

(D) Finding out faults and award,

punishment to subordinates.
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16.

Codes:

17.

Match List-I with List-II and select the correct

answer by using the codes given below the

lists:

List-I

(A)  Organisation chart
(B)  Organisation manual
(C)  Tall Structures

(D)  Flatstructures
List-11

(1) Detailed handbook of organization

(i)  Wide spanofcontrol
(iii)  Narrow spanof control
(iv)  Visual representation of organisation
structure
(A) B © O
A (iv) @ (i) (i)
B (iv) G) G @)
C (i) i v Q)
D (iii) G G (@Gv)

Consider the following books:
@) The Study of Administration
(1)

Politics of Public Administration

(iii)  Politics and Administration

(iv)  Functions of Executive

What is the correct chronological order of their
publication?

(A)  (@)-(D-(ED-(iv)

®B)  @)-()-(D)-(v)

(©)  (iD)-()-(v)-(i)

(D) (v)-(D)-(iii)-(1a)
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18.

19.

20.

Codes:

Who focused on three important elements of
organisation: willingness to cooperate,

common purpose and communication?

(A)  M.P.Follett

(B)  Chester], Barnard
(C)  D.McGregor

(D) EltonMayo

Which of the following are associated with the
Scientific Management Movement?

(1) Functional Foremanship

(2) Centralization

(3) Time and Motion Study

4) Unity of Command

Choose the correct answer from the codes
given below:

(A) land3 (B) 2and4

(C) 1,2and3 (D) 2,3and4

Match List-I with List-II and select the correct

answer by using the codes given below the

lists:

List-1

(A)  Time and Motion Study

(B)  General Management

(C)  Hawthorne Studies

(D)  Behavious Alternative Model

List-1I

(1) Fayol (2) Taylor

(3)  Simon (4)  EltonMayo

(5)  Gullick |
@A ® © O

A @ @O & 0

B 7 @ & 6

C 3 6 @ O

D @ @O @ Q)
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21.

22.

Codes:

23.

Herbert Simon's concept of administration is
based on

(A)  Structural - functional approach

(B)  Logical positivism

(C)  Systemsapproach

(D)  Elite approach

Match List-I with List-II and select the correct

answer by using the codes given below the

lists:

List-1I

(A)  Hawthorne Studies

{B)  Mental Revolution

(C)  Principles of Organization

(D) Ecological Approach

List- 11

(O John Gaus (2) Henry Fayol

(3)  Roethlisberger(4) F.W. Taylor
A B (© @D

A @ 6 O @

B 4 & @ @

c & @& GO O

D G @ @ @O

Consrider the following experiments:

(1) Bank Wiring Observation Room

(2)  Relay Assembly Test Room

(3)  MicaSpliting TestRoom

4 Productivity Measuring Test Room

Which of these experiments did Mayo's

research include?

(A) land4 (B) 2and3

(C) 1,2and3 (D) 1.2,3and4
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24,

25.

Codes:

- Which one of the following is NOT correct

regarding the pfinciple of hierarchy?

(A) It facilitates delegation of authority.
(B)  TIthelpsincoordination.

(C)  Itpromotes order and discipline.

(D) It obliterates superior-subordinate

relationship.

Match List-I with List-II and select the correct

answer by using the codes given below the

lists:

List-1

(A) The orderly arrangement of group
effort to provide unity of action in the
pursuitofa common purpose

(B)  The superior - subordinate relationship
through a number of levels of
responsibility

(C)  An employee should receive orders
from one superior only

(D) The number of subordinates an
administrator can personally direct.

List-11

(1) Hierarchy

(2) Span of Control

3) Coordination 7

(4) Unity of Command

(5)  Integration

A @B (© @O

A 5 3 4 1
B 3 1 4
C 3 4 i

A~ N

D 2 1 3
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26.

27.

28.

Which one of the following statement is
incorrect?

(A)  Delegation helps in achieving vertical
coordination.

(B) Unity of command facilitates

delegation.
(C)  Delegation can be vertical and lateral.
(D) Delegation is the same as
decentralization. ‘

Which one of the following statement- is
incorrect?

(A) Coordination is the essence of
management.

(B)  Coordination and cooperation mean
the same thing.

(C)  Higher the degree of specialization in
work activities, more is the need for
* coordinating.

(D) The need for co-ordination arises
because of the interdependence of
activities.

Match List-I with List-1T and select the correct
answer by using the codes given below the
lists:

List-1I
(A) Deliberate attempt to unify

organizational activities

(B) Voluntary attempt to unify

organizational activities

(C)  Delegation to subordinates at the same
level

(D) Delegation from superior to
subordinates

List-II

(D) Cooperation

(2) Lateral Delegation
(3}  Coordination

“® Overlap

(5) Vertical Delegation
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29.

30.

D 2 1 5. 4
Consider the following statements :

(1) Informal communication channels are
faster than formal communication

channels.

(2) Vertical communication spreads
communication across the hierarchical

levels.

(3) Horizontal communication spreads

information across the hierarchical

levels.

*)

Grapevine communication is a form of

formal communication channel.

Which of the statements given above is/are

correct?
(A) land2 (B) 2and4
(C)y 3only (D) 2,3and4

In which society greater formalism,

heterogeneity and overlapping are likely to

exist?

(A)  Exo-genoussociety
(B)  Endo-genoussociety
(C)  Exo-prismatic society
(D) Endo - Prismatic society
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30.
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(A) (B) ©) D)
3 I 2 5
3 1 4 2
3 5 1 2
2 1 5 4
fr=feaRed awal & R i
(1) oFaRe FaR g fmiRe
HER segenall I 1fde I B 7 |
(2) TFEE WUR UREUHE WR @
IR—TR TR BT HeAT & |
(3) dfow uR UsEuEE wN™OB
MR- TR B Bl & |
(4) AR HUR AUEiRG HOR o
&1 UH YPR B |
SuRfaRaa arfi@merl § 9 o 4 |e1 87
(A) land2 (B) 2and4
(C) 3only (D) 2,3 and 4
for Tt W Sifdare, fasiaar 9 st
3ffEres =T ¥ ferm grar 87
(A) IS aas
(B)  aT=<ivTd EHST
(C) sfearg — forsifes vt
(D)

o — R

P.T.0.



31,

Codes:

Match List-I with List-II and select the correct

answer by using the codes given below the

lists:

List-1

(A}  Comparative Public Administration

(B)  Development Administration

(C)  New Public Administration

(D)  New Public Management

List-11

(1) Organization and management of men
and material

2) From Ideographic to Nomothetic

3) Relevance, values, social equity,
change

(4)  Goal - oriented and action - oriented

(5) Efficiency, Economy and
Effectiveness

A) B € O

A 3 I 2 5

B 3 1 5 2

C 2 4 5 3

D 2 4 3 5

The salient features of the US administrative

system are

(1) Judicial review

(2) Federal system

(3) Presidential form of government

separation of Powers with checks and

4)

balances

Select the correct answer from the codes given

below:
| (A) land3
(B) land2
© 1,3and4
(D) 1.2,3and 4
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32.
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W — 1 A gdl — 11 9 gaferd S &R

qfdt & i 3 T ge B R B gg

TEI IAR BT JIT DI

T - 1

(A) oS Ald T

(B) oM qomH

(C) 10 dvep =i

(D) 54 |h g

A -1

(1) fwal g el o e 1e yay

(2) sfeannihs § Amdfes

(3) e, qed, WESIe [,
BIECRE

) ey vd FraE

(5)  Tean, fceraar, wafdarn
@A) B © O

A 3 1 2 5

B 3 1 5002

C 2 4 5 3

D 2 4 35

0. TS et P e AR 8

(1) RS gREAdT

(2) IS YTTel

(3)  JTATHD AT YO

@) w7 e dftd ol @
PREGR

A A T e § 9 wE SR g

(A) 13RR3

(B) 13R2

(C) 1,334

(D) 1,2,33R4



33.

34.

37.

The main characteristic of British system of
administrationis

(A)  Responsible Government

(B)  Cabinet Government

(C}  Bi-party system

(D)  Alloftheabove

Which one of the following is true about

development administration?

(A)  Itischangeoriented

(B)  Itisfocuseson centralisation
(C)  Ttisauthoritative in nature
(D)}  Alloftheabove

Who defined Development Administration as
'action oriented and goal oriented

administrative system'?
(A) F.W. Riggs

(B)  Max Weber

(C)  Edward Weidner
(D)  George Gant

" In which year was the Constituent Assembly

established?

(A) 1949
(B) 1947
C) 1946
D) 1945

Which of the following is not a Constitutional
body?

(A)  Inter-State Council
(B)  Finance Commission
(C)  UnionPublic Service Commission

(D) NITlAayog
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33.

34.

35.

36.

37.

h

fafeer wemafies raven @1 g fagwar & —
(A) SR wrEA
(B)  ®fere s+

(C) fa—<dia ga yomedt

(D) SIS I

f=faflag & 9 @9 e g & Ix |
R

(A) TEIRTTHIVE &

(B) B PUIPRT R bfad
(C) TE TP TRERE B
D) FTWRF I

P fa®ra Wemas & "&Ras S i

o

el S YUNE UUell” @ WU A
aRuTfee faar?

(A) TP sy R

(B) HaE IeR

(C) UsTEdisR

(D) S

wfaar w1 o) wre {69 9y gs of1?
(A) 1949

(B) 1947

(C) 1946

(D) 1945

e § 9 9 e Jauite ey T8
27

(A) SR — T URyE

(B) fa smanT
(C) 9 T [T AT
(D) e smaET

P.T.O.



38.

39.

40.

41.

42,

How many union territories are there in Indian

Union at Present?
(A) 6
B) 7
< 8
) 9

Which article of the Constitution of India
makes the provision for UPSC? .

(A) Article315
(B)  Article318
(C)  Article320
(D)  Article321

Amoney bill passed by the Lok Sabhahas to be
passed by Rajya Sabha within.......

(A)y Tdays (B) l4days

(C)  2ldays (D)  90days

When was the NITI Aayog as the primary
government think tank inéepted’? |
(A)  January-2015

(B)  January-2016

(C)  April-2016

(D)  April-2019

Which of the following statements is not
correct about Budget inIndia? |

(A) Budget is statement of estimated
receipts and expenditure of the

Government of India.

(B)  The Department of Economic Affairs
of Ministry of Finance prepare the

Budget of Government of India.
(C)  The Constitution of India calls Budget

as Annual Finance Statement.

(D)  The President of India lay it before the

House of People.
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38.

39.

40.

41.

42.

AT WIRAE G9 F o g wifi wew
g2
(A)
(B)
©)
(D)
YR & I BT B 91 70 JUTRT &~
fore rgem= &=ar 87 .

o SO -1 O
)

(A) 3T 315

(B) SITBS 318

(C)  3Teg 320

(D)  aTTEeE 321

ST gRT IIRT Ve & g o1 Xreusa
g1 fdver fo=i & o fsar s 8.

A 7f@= (B) 14f&a

) 21fe= (D) 9ofew

T %4 gs 17

(A)  STFGRI — 2015 :
(B)  SIFTaRI — 2016

(C)  3fifel— 2016 )
(D) a1 — 2019

ARG ¥ guic @ 9N F f=folea § 9 @9 w7

FHUT WEI THl 57

(A) I9IE IRA WRER B AT Wit
3R =gu &1 4R 8 | |

(B) foxr #=mera @ anfeies @rad favmT wRa

WIHR BT FoIc TR AT 8 |

(C) HRT & wdfders goie &1 arfds &g
fqavor HEd & |

(D) RGO & IO 3 AP A B HE
T |




43.

44,

46.

Which of the following is not work of CAG?
(A)  CAG protects the consolidated fund of
India.

(B) CAG Submits audit reports related to
central government to the President of

India.

(C) CAG submits ‘audits reports of state

government to the president of India.

(D)  CAG audits all the institutions which

receive fund from central government.

Which one of the following is not a feature of

traditional administration?
(A)  Ttisflexibie and dynamic.

(B)  Itishierarchical and rigid.

(C)  ltisconcerned with routine operation.

(D)  Ifisstatusquooriented.

Which one of the following statement is not

correct about the Prime Minister's Office?
(A)  Itsetstheagenda for Cabinet meetings.

(B) It is becoming a base of economic

activities.
(C)  Itisthink tank for Prime Minister.

(D) It was previously known as Prime

Minister's Secretariat.

In which year was the Sarkaria Commission

appointed by the Central Government?

(A) 1983
(B) 1987
(C) 1988
(D) 1992
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43,

44,

45,

46.

fyeforRae ¥ & B WUl & H1 T61 57
(A) CAG¥Rq &V Hferd {3 @t v&T e=an

2i
(B) CAGYRd & ILURT BT g ARPR 4
e afffee R Tgd FRaT s |
(C) CAG YRA & IATURT DI TS FWBR
B 3iifee Rud yegd HaT 2 |

(D) CAG S+ &fl w7 afifge s
T PE BN | B U B B |

frefoReg § ¥ @9 oRuRe gameT @

farvear =181 87

(A) T8 e R e 2

(B) T USTIEH I 3R HOR B |

() T= frafie daeq S 9eRa 2 |

(D) TE MRS~ B |

fyfeiRaa % & @9 |1 dUT v HA

wterd & IR H TE T8I 87

(A) T BIEIC DI 9GP DI Toiel TF Bl
= |

(B) I enfele wfafafera) &t e g=vem o
TEIE |

(C) T HA & forg i S B |

(D) SV UB T HAl Afdres & w9 H
SITT SATCT o |

DE AR ERT FRBINAT JRAT B gfh

foer end a1 TS Y

(A) 1983
(B) 1987
(C) 1988
(D) 1992

P.T.O.



47.

48.

49.

50.

51.

What is the biggest challenge for the

development administration?

(A)  Lackofresources

(B)  Administrative Corruption
(C)  Political Capability

(D)  Noneofthe above

At present the Cabinet Secretariat in India is

headed by whom? |

(A)  Pradeep Kumar Sinha
(B)  AjitKumar Seth

(C)  RajivMehrishi

(D)  RajivGauba

The chairman and members of the UPSC hold

the office foratermof.....

(A)  Three Years

(B)  FourYears

(C)  Five Years

(D)  Six Years

The Central Administrative Tribunal deals
with

(A)  Only Promotionmatters

(B)  Only Disciplinary matters

(C)  OnlyRecruitment matters

(D)  Recruitment and all service matters

[f the expenditure is more than the estimated

revenue itis called .....
(A)  Deficit Budget
(B)  Surplus Budget
() Balanced Budget

(D)  Noneoftheabove
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47.

48.

49.

50,

51.

fasr werre & forg sy ) g aar 27
(A) e BT B

B) WNME TR

(C) WIS aHar

(D) THA DA

wAH H 9IRS § BN Afiaey F Agw
fepred g fepam e 87

(A)  USIT AR R

(B)  3Iia {HR T

(C) ol wely

(D)  TolE TiET

JUITHRTT & 31ege] 3R Wewy 19 arafyy & forg
g R B B....

(A) A
(B) =RAA
(€ dfEam
(D) vsdAA
Gl ST A R e 27

(A) D YR FIA I 2

(B)  @ge FRMTEACIS A

(C) DI A & AT

(D) AT 3R Gy e Al

afe S I woTa W AED & A 7 7

(A) HTerS9ic
(B) ey g

(C)  wgfer aee
(D) IURIH A B AL

-



52.

53.

54.

56.

Who isthe CEO of NITI Aayog at present?
(A) BibekDebroy (B)  V.K.Saraswat
(C)  AmitabhKant (D)  Rajivkumar

The Governor of the State in India holds

office....
(A)  foratermoffive years.
(B)  during the pleasure of the President.

(C)  during the pleasure of the Chief

Minister.

(D)  during the pleasure of the State

legislature.

The term Development Administration was

first coined in 1955 by Indian Scholar.....
(A)  V.A.PaiPanandikar

(B) BalwantRaiMehta

(C)  U.L.Goswami

(D)  None oftheabove

Which one of the following in not the basic
requirement of successful planning in

Developing countries?

(A)  Centralisation of power

(B)  Strongand efficient Government
(C)  Flexibility in planning

(D) -Mobilization of ﬁnaﬁcial resources

Which one of the following is not perfectly

matched?

(A)  TASprobationers Mussurie
(B)  IPSprobationers Mount Abu
(C)  IRSprobationers Nagpur
(D)  IFSprobationers Dehradun
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52.

53.

55.

56.

T4 % NITI Aayog & CEO B §?
(A) fResdwRia (B) &P AxwEd

TSIIRAR

ped

(C) 3AMamBic (D)
R ¥ 90 BT AU UE FR[ A 8.
(A)  Oid |rel @ 3rafd & forg |

(B) < o s & e

(C) A B T & QIR |

(D) v faenfe o =TT & SR |

T Yo Yiec TSl dR 1955 W ARG

(C) el T

(D) T FE T

ﬁwf%ﬁmﬁﬁ 3 fereie ui 4 qwHe
T 9o e d AR S el 57

(A) T BT BETHROT

(B)  WoIqE 3N B TN

(C) o A eI

(D) (i Gl & e
feforRaa # & H1 yofa: Afe T8 27
(A) ST uRdEE___ A

(B) oSdgw aNdendE_ HIST 3g
(C)  ATSHRUY gRdere AR

(D) erSuwud gRdemefm  SwieA
P.T.O.



57.

38.

59.

60.

In which year India accepted the Principle of

merit as the basis of recruitment?

(A) 1843
(B) 1853
(C) 1854
(D) 1858

The Directorate in the state administration is. ..
(A) The Executivé agency

(B)  TheConstitutional agency

(C)  The Statutory agency

(D)  The Policy making agency

Thz Governor of the state can reserve the bill
passed by the state assembly for the

consideration of the President under the......
(A)  Article- 153
(B)  Article-240
(C)  Article-200
(D)  Article—268

Which Article of the Constitution of India
makes the provision for Comptroller and

Auditor General of India?
(A)  Article-7&

(B)r Article- 148

(C) Article-153

(D)  Article—248
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57,

58.

50.

60.

MRA A fFa 98 vdl @ s & wu § g

% figT= a1 Wier fear?
(A) 1843
(B) 1853 | :
(C) 1854 .
(D) 1858
Y Y | e B
(A) TR TORT
(B) e ol
(C) T ol

(D) =if T aref il

AT B oIl 1T I gRT uiRa

e 31 Ul @ framned Rt v o
(A) 3T — 153 '
(B) — 240 )
©) — 200

(D) 37T — 268

AR & WAUH & B 9 IJE TR B
Fa=e SR AgTerE Wed & foly wraem

AT B?

(A) W76
(B) T — 148
(C) oTg®T— 153
(D) SgeUE — 248



61.

62.

64.

[tis not a feature of rank classification.

(A) It brings an element of flexibility in

personnel Administration.

(B)  Itis General scheme of classification.

(C)  The employees are classified and not

the job.

(D) It does not violate the principle of

equal pay for equal work.

It is not true with respect to the legislative

powers of the Governor

(A)  He summons, prorogues and dissolves

the assembly.

(B)  He addresses the first session of the

legislative assembly after election.

(C) He may send messages to the

assembly.
(D)  He presents the budgetin the assembly.

Which source was utilized for Fundamental
Rights by the framers of the Constitution of
India?

(A)  Governmentof India Act—1935

(B)  ThelIrish Constitution

(C)  TheConstitution ofthe USA

(D)  The British Constitution

Which Miﬁistry of Government of India

handles the area of Disaster Management?
(A)  Ministry of Home Affairs

{(B)  Ministry of Science and Technology
(C)  Ministry of Agriculture

(D)  Ministry of Environment and Forests
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61.

62.

63.

64.

Tg ¥ Tievor o fariyar T8l 2 |
(A) TE PG JARE H d=edd & TP

T AL |

(B)  ug yefiep_or &) ATHIRT Wi & |

(C) eI BT a¥iferd o aran 2 7 &
e |

(D) U8 999 &F @ oy 99« 999 &

Ryl &1 Seeie T8l ARaT g |
IaTe o AU el $ Hee ¥ UE a
g
(A) 9% Rueew @7 o B, FAEdE

FAT & AR AT PR & |
(B) a%wa%mﬁmﬂzﬁqﬁm

B AT Ha & |
(C)  og foumaT & | a9 qehar 2 |
(D) T fur T A IO YT FRA € |

& U 5T T 1 I fhar 1T or?

(A) VRT TSR ARAFTH — 1935

(B)  3maRer wfder

(C) | oy ARG BT Hider

(D) fafew dfdem=

TRT WREAR T DI AT FATAT ATIST JaeT B
&5 T FHTerar 27

(A) T FAEE

(B) o5 oiR drenfiras #are™

(C) Py e

(D)  YITERY 3R 99 AT
P.T.O.



65.

66.

67.

68.

69.

Budget is an instrument of control by
(A) = TheExecutive

(B)  TheLegislature

(C)  The Judiciary

(1) MNeneofithe alvove

The financial emergency in India can be

imposed under the article  of the
Constitution of India.

(A) 352

(B) 356

(€C) 360

(D) 368

Exploratory researchis also knownas-
(A)  Descriptive Research

(B)  Experimental Research

(C)  Empirical Research

(D)  CaseStudy

The main theme and scope of social research
is-

(A)  Tostudy social values

(B)  Tostudy economic affairs

(C)  Tostudy humén behaviour

(D)  Tostudy governmentand Politics

Cause - effect relationship in Scientific

method deals with-
(A)  Generality
(B)  Deduction
(C) Hypothesis

(D)  'If-then'link
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65.

66.

67.

68.

69.

gote fhas gRT 8= &7 Ue gy 87

(A)  FHEERY
(B) el
(C)  =urgurferd

(D) T B A T
wrRa # oy suraera wRa & dfourT &

AT ....... T TE TTAT ff el 2 |

(A) 352
(B) 356
(©) 360
(D) 368

YOI AN BT 3G 19 A ol SO ST
T

(A) giETHD e

(B) FreuvmeHes Iy

(C)  IIHaed A

(D) Jafeds semaA

AT W 95 TRed fawareag T & 8-
(A)  HEIRNTS ol &l g

(B)  anfefes AR @ e

(C) W1 FAER BT ALHIA

(D) ERBR Ud ST &l 3eqa4
I57fA% IERT H DROT—TTE FFe el 8—
(A) S HEFRIATH

(B frmAeEa 9

(C)  UTahedT |

(D) ‘afe—arfiww



70.  According to Galtuag the basic element, of a | 70. Mo T & TR FHEITD MY B {EHT T

social research are - T
(A)  Values, variables & hypothesis (A)  ToU, TR AT WGBS
) (B)  Values, variables & units. (B)  ¥od, TR el SHEA!
(C)  Variables, hypothesis & samplipg (C) =R, UTapeu=T qorT e
v (D)  Quality, quantity and survey. (D) oy, aRET HQIT e
71.  Moving towards, specific to general is known - Fforee & | ) S S Y BEr L |
as-

(A)  IITHATHS TR
(A)  Induction method

(B) FrmweeRs ygla
(C)  Survey method (C) e ugfa

(D)  Empirical method (D)  3rgwaHeTs gEf

(B)  Deduction method

72.  Which one is not included in the dimensions of | 7% TH TEwedT @ St # ey H o«
ahypothesis. wefeT el 8-
(A)  Specificity (A)  faferear
(B)  Testability (B)  Terofiger
(C)  Reliability (©)  faeEEer

{ (D)  Deductability (D)  FrrEeRET

73.  On the basis of measurement the data are 73, 10 & AR R 3ifee fuiide €

dividedin-

(A)  TOUIHSE UG URHATOTHS H
(B) wrIfA® U4 fgdas ®
(C) =i, e, sraxier, U §
(D) SggF
74, FeEF vl faueid 8-

(A)  Quality & quantity

(B)  Primary & secondary

(C)  Nominal, Ordinal, Interval, Ratio.
(D)  Alloftheabove

74.  Sampling method is opposite to -

(A)  Censusmethod (A)  ETOET ERT

(B)  Observation method (B) 3Gl ygla &
(C)  Experimentmethod - (C) WEES g
(D)  Interview method | (D) IR T
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75.

76.

77.

78.

Lottery, Ticket, Regular marking and Tippet

methods are used in-

(A)  Stratified sampling

(B)  Multistage sampling

(C)  Cluster sampling

(D) Randomsampling
Aresearch report does not include-
(A) - Proposedplan of research
(B)  Objectives & research design
(C)  Findings & conclusion

(D)  References & bibliography

In Rajasthan the office of divisional

commissioner was revived in?
(A) 1949  B) 1936
(©) 1987 D 2002

The provisions of Autonomous Districts are

mentioned in of Constitution of India.
(A)  Schedule Second
(B  Schedule Fourth

(C)  Schedule Twelfth

(D)  Schedule Sixth

139 - PUBLIC ADMINISTRATION

24

75.

76.

77.

78.

dfed), e ufia o, qur Rue usfy
UGeRT BT 87

(A) WG Feea H

(B) 9g=wviy frge= #

(€) 7w fgedTH

(D) <9 free#

U Wty yfide H wftaford TE giar 2-

(A) Y F B AT IIoTI
(B) % U4 oY Uy

(C) ey gd wwRiw

(D)  E=H-—T Al

RISTRAT H [Ty SArgers ue . venfoe fdbar

T |
(A) E1949H (B) 11956 H
(C) 9¥T1987H (D) \q{2002%

WAl fSal BT Wy IR & dfeurd

o #E

(A)  orIREE feira
(B)  orgyed g
(€) STy IRedt
(D) STERTE weH




79.

80.

81.

Which of the following statement about

District Collector is wrong -

(A)  His position isdiluted by Article - 50 of

the Constitution of India.

(B) District disaster Management -
Authority is chaired by District

Collector.

(C) Panchayati Raj Institutions have
strengthen the role of District

Collector.

(D)  About 65 District level Committees

one chaired by him.
What is '3F' in Panchayati Raj.
(A)  Forest, Fire, Fisheries
(B)  Fund, Functions, Functionaries
(C)  Finance, Forest, Festivals
(D)  Family, Film, Festivals

Who is nominated by chairman of sixth

Rajasthan State Finance Commission.
(A) JyotiKiran

(B)  AshokLahoti

(C)  GulabChand

(D)  Pradyuman Singh
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79.

80.

81.

el Pordex @ A ¥ fAwTifhd ¥ A IR
BHUT P T |

(A) URG ¥ Gl $ o 50 § SHd!
gReIf TR EE B |

(B) 5o Foraex Rel #uer g€

YTRIeRROT hT LT BICT B |

(C)  Taradl T weerail =1 foTet weraer &
f¥eT FEad B E |

(D) g8 o 65 Rren W wfAfaay o
T BIATE |

STt I # 3 U T s § —
(A) T, T, AT

(B) 3N, P, ‘Eﬁlﬁ?}?

©) e, o, @ER

(D) uRaR, fhew, @ER

ISTRIT IS & B¢ Iy I AT & 31ee

2|
(A) vafa fa=a
(B)  arels drsiet

(C)  [ad T HeIRal

(D) wgH e
P.T.O.



82.

83.

84.

83.

Which option is wrong about Round Table

Conference heldin2014.

(A)  Firstconference =New Delhi
(B)  Second conference =Mysore
(C)  Third conference =Raipur

(D) Fourth conference= Chandigarh
The office of Sheriffis existed in -

(A)  Delhi & Lucknow

(B)  Jaipur & Mumbai

(C)  Kolkata & Mumbai

(D)  Bhopal & Hyderabad

Rajasthan Local Fund Audit Act wasmade in.
(A) 1949
(B) 1954
(Cy 1956
(D) 1994

Nehru via Panchsheel principles propounded
in 1952 in Jagdalpur Conference were related
with

{A) International Peace

(B)  Tribal Development

(C)  GenderJustice

(D)  Children Welfare
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82.

83.

84.

85.

Fq 2014 ¥ §Y GATTAT TS TSAHAS TR D

HH H Pl f[THoT sy & —

(A) TIHERET = BERET]
@) RoawEem = R

€) ThREHaT = TR
D) IR -
SR &1 ug yafdd & —

(A) ool vd g #

(B) S T T A

(C)  PIctard Ud g 4

(D)  HIuTel Ud gaxene §

eI g [ @ afSfaun Fe
ENLE

(A) E11949H

(B) 1954 H

(C) aT1956H

(D) AT1994 H
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86.

87.

88.

89.

90.

Social Welfare Administration is a discipline

was emerged in -
(A) USA

(B)  France
(C) India
(D) UK

Principles of social administration are
propounded by -

(A) | Walter A. Friedlender

(B)  Woodrow Wilson

(C)  HenriFayol

(D)  KenethBlenkard

Which one of the following is not the part of

social policy.

{A)  PopulationPolicy
(B) LabourPolicy
(C)  TradePolicy

(D)  HealthPolicy

Any public policy based on Robinhood style

are known as -

(A)  Substantive Policy
(B)  Regulatory Policy
(C)  Constituent Policy

(D)  Redistributive Policy

"The Policy Sciences' (1951) was written by -
(A)  Daniel McCool

(B)  Charles Mariyam

(C)  Daniel Learner & Harold Lasswell

(D)  Y.Dror
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& 99 & wT # HHS Bl YA B
S gAT |

(A) emReT
(B) Wi

€ 9RG
(D) U faeH

e gImad o g feaa wfofea
fp g —
(A)  dTeeR U hISalvey

(B) g faeaA
(C) TR WA
(D) B lPre

forifera & 1 D9l U AT AT &t |
& B~
(A) ST i

(B) M

(C) @R |

(D) WReT A

{fege 9 W SN BE die AR FEa
3

(A)  SREE T

(B) famag Aifa

(C) uca Afd

(D) o faaromers Afy

< ufferdl WERT (1951) e foredl 8-
(A)  Shre Had

(B) ared ARTH

(C) = R Td BRI

(D) TE$R
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91.

92.

93.

Which of the following option is mismatched

(A) RoadPolicy=1956

(B)  Industrial Policy =1 94-8
(C)  Computer Policy =1984
(D)  Fertilizers Policy =1992

According to Belly the '4 I' elements of public

policy are -

(A)

Ideas, Interests, Institutions,

Individuals.

Industries, Institutions, Intellectuals,

(B)
Ideas.

(C) Ideas, Intellectuals, Institutions,
Individuals. -

D) Institutiong, Industries, Ideas,-
Individuals.

According to Peter Odguard the 'Siamese

Twins' of Politics are -

(A)  Constitution & Courts

(B)  Policy & Administration

(C)  Administration & Bureaucracy
.(D) Civil Servants & Laws
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fifara 9 @ i fAwe gofera w8t 8-

(A) S =T =1956
(B)  airenfire ifd =1948
(C)  DrYex AIfY = 1984
(D) Se HfRT=1992

9 T TR Wid Afa @ Tl H B 4

g’ fEferT & —

(A) Taer fRa, wverd, afe

(B) S, @iy, difE®, AR
(C) TR, Sifgs, Exerd, aafae
(D) |y, SO, fgR, afad

§_
(A)  GRY™ vd <y
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94.

95.

96.

97.

'Good Government' term was first used in -

(A)  World Bank Report on Sub-Saharan

Africa, 1992

(B) Queen Victoria Declaration,
Allahabad, 1858

(C)  FirstARCReport, 1966

(D)  FifthPay Commission, 1997

Which of the following is not the element of

good governance.
(A) Participation

(B)  Accountability
©) Centralization

(D)  Predictability

General Agreement on Trade & Tariff (GATT)

wasdone in -
(A)  October, 1947
(B)  August, 1956
(C)  July, 1991

(D)  January,1995

Which committee recommended first, the

liberalization in India -
(A) Rangrajan Committee 1991-93
(B)  Rajachallaiya Committee 1991-92
(C)  Bhandari Committee 1994-95

(D)  Tandon Committee 1979-80
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a7.

‘3] ERPIR ATl Vi o) T g —

(A) fava Jo Ge—wEr emre RUie, 1992

(B) wERMI fIgeiRar 9mon, goEEs,
1858

(C) W™ yeafs & gur ema RuiE,

1966

(D)  dfe@l I 31T, 1997

Foreifencs 3 W epieTaT G T T AE & —
(A)  FEATREr |

(B)  Sardeddr

(C}) TaIgR

(D)  faergar

yZed Td HTIR R AT s () B
5o —

(A) TR, 1947

(B) 3T, 1956

(C) ST, 1991

(D) <RI, 1995

f&a ﬂﬁrﬁ‘r g gR ARG H IERIGRU B
ST BT < |

(A) TR 9fAfd, 1991-93

(B)  oTEodn AR, 199192

(C)  YUSHT AiHfd, 1994—95

(D) <=4 afAla, 197980
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98.

99.

100.

'District Industry Centres' were established as

perthe provisions of -

(A) Industrial Policy, 1991

(B)  Industrral Poiicy, 1956

(C)  Industrial Policy, 1948

(D)  Industrial Policy, 1977

What is the theme of fifteenth report of second
ARC.

(A)  Ethicsin Governance

(B)  Rightto Information

(C)  State & District Administration
(D) Social Capital

Which option is mismatched -

(A) Hunter Commission = Primary
Education

(B) Fowler Commission = Health &
Sanitation

(C) Nicholsan Commission = Co-
operative institutions

(D) Holland Commission = Industry

Development

139 - PUBLIC ADMINISTRATION

99.

30

100.

YT B8

(A)  Sirenfirs A, 1991
(B)  EnfiE N, 1956
(C)  oiEnfires -fa, 1048
(D) 3fEnf® :?rFér 1977

feira Temaie Gur ImanT 3 TwEdl Rad
o fImg & -

(A)  ITES H Afaear

®) g R

(©) g ug fre v

(D) e ol

FIeraT ey gafera T8t 2,

(A)  EUSY MANT =Hrerfids e

(B) TWTSOR AN =Red U4 aegal
(C)y  fAPBraa AT = e Rl Fearg
(D)  EiRive AT =9 fadry
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